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OZ3+8AE ELUEU2ERAAS 29 2,500
Jl 1,250
< 1,250

308 AHXIEHSOIA 38,750 31,000 7,750
Il 38,750

01 AIXSHMBLEES 38,750 31,000 7,750
OANZ SS+BANE E& 38,750
Il 38,750

AN H2EFORAYSE 2H(=1) 41,500 37,000 4,500
Jl 36,500
= 5,000

307 2I2t01 A 10,000 10,000 0
2l 5,000
=5 5,000

10 AM=ENEE 10,000 10,000 0
oFAH HO0IFI2E 29 10,000
Jl 5,000
= 5,000

308 XXl EtMSO01& 31,500 27,000 4,500
I 31,500

01 AXEMBHEES 31,500 27,000 4,500
oFa4d HOFES 2 31,500
Il 31,500

LIFLHESHEMYH 2EXE 289,553 289,553 0
7l 115,821
T 173,732

307 2I2t01 A 289,553 289,553 0
Il 115,821
=S 173,732

10 B SXIEX 289,553 289,553 0
ONYHAHSSIEMLH 289,553
Il 115,821
3 173,732

ANLELHEBSUSHE MR 193,035 193,035 0
Jl 77,214
< 115,821

307 1201 ™ 193,035 193,035 0
Il 77,214
= 115,821
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A dEAEIIED
0l 4 3AE SY(MISX/c - Fad)
B9 Fad 84 228 29 (e H)

193,035 193,035

OXNYHAHBSRME X 193,085
7| 77,214
[ 115,821

ZIAPAIL T2 294(21) 80,600 74,400 6,200
b 78,900
= 1,700

307 QI2+0| ® 3,400 3,600 £200
7| 1,700
[ 1,700

WEEEES 3,400 3,600 £200
OZIZHAUAMAL Z278 2 3,400
bl 1,700
= 1,700

308 XHXI EHRI SOl & 77,200 70,800 6,400
bl 77,200

01 HXSHAANEER 77,200 70,800 6,400
OZTHAHAMAL T2 29 77,200
bl 77,200

ZDLBALE HAEXSA BIXI(2D) 359,520 297,960 61,560
J| 340,080
[ 19,440

307 QI2t0|H 38,880 38,880 0
pl 19,440
[ 19,440

NEELEES 38,880 38,880 0
OHAEXTAF HX X 38,880
pll 19,440
= 19,440

308 XtXI XSO & 320,640 259,080 61,560
Il 320,640

01 HXSHHBNEES 320,640 259,080 61,560
OHAEXTAF X X 320,640
7| 320,640

AW 25Z 2%(=21) 170,000 170,000 0
7| 136,000
= 34,000

308 Xt x| EHHISOI & 170,000 170,000 0
Jl 136,000
[ 34,000

01 HXSHHBNLE2 170,000 170,000 0
OHAURSE 2% 170,000
J| 136,000
= 34,000

HAW SO0l2 #S(=21) 30,000 30,000 0
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A
A
L= B

eel:

2 R

HEAHIIED
i A HAE SH(MESEX/ Q- FHAH)
A9 |4 2278 29

54,000 |
= 6,000
308 XHXI EHAI S O & 30,000 30,000 0
9 24,000
< 6,000
N X CAZEEES 30,000 30,000 0
OEAE S012 BEXE 30,000
9 24,000
= 6,000
HAW AHES NUAE 22 ABSY(2D) 60,000 60,000 0
Il 30,000
= 30,000
307 BI2HOI R 60,000 60,000 0
3 30,000
< 30,000
10 NS =X S E 60,000 60,000 0
OHAE MBS XA 2 ALY 60,000
3l 30,000
= 30,000
HAUES 9 M BS 4,307,145 3,505,300 781,823
= 871,500
9l 1,883,497
= 132,000
= 1,420,148
A9HE HAW =XEZ 95,000 95,000 0
307 BI2HOI & 23,000 23,000 0
10 MBI =X 2E 23,000 23,000 0
O AW OIEY HE AT 15,000
OHIFAED S0 A 8,000
308 XHXI EHHIS Ol & 72,000 72,000 0
N XS HBNEES 72,000 72,000 0
oHERSD XY 72,000
HAE M B3 52,000 32,000 20,000
201 L2 | 3,000 3,000 0
01 ARl 3,000 3,000 0
OLHE MBS XAANE 2 3,000
307 BI2H0I & 49,000 29,000 20,000
10 NBI= X2 E 49,000 29,000 20,000
o n=E2 Yz 30,000
osnYg Koz 10,000
QLML BHOISEH 9,000
HAUNSETHEH 29 300,000 300,000 0
= 132,000
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FA:
g

ESE

HEEAEIIEH

Olch 8= #4H SH(MIEX/ - -

F2HEsS ¥ HdE 8

A

&)

o HE

307 QI2+0| 300,000 300,000 0
£ 132,000
[ 168,000

EEREES 300,000 300,000 0
OHAHMYSXME 2 300,000
= 132,000
= 168,000

AW SUTAY 2%(2D) 336, 131 278,782 57,349
bJ 262,840
[ 73,291

307 21240 ® 146,582 146,582 0
bl 73,291
S 73,291

IWEEEES 146,562 146,562 0
OHAWUSHXNIZZIY 29 146,562
J| 73,291
= 73,291

308 X+ EHH SOl & 189,549 132,200 57,349
Il 189,549

01 IXESHMINEES 189,549 132,200 57,349
OEAUSHNIZIY 2 189,549
bJ 189,549

FAUSBNAMH 2= NY(2D) 894,900 738,500 156,400
Il 685, 150
= 209,750

307 21210| & 419,500 356,000 63,500
bJ 209,750
= 209,750

EEEES 419,500 356,000 63,500
O HAUSHIIMHTS 419,500
Il 209,750
= 209,750

308 X+XI M SOI & 475,400 382,500 92,900
b 475,400

01 HXSHHBMRES 475,400 382,500 92,900
ONZ HLAUSSNAMHTS 475,400
Il 475,400

HAHAE 29(22) 728,614 574,824 153,790
bl 364,307
= 364,307

307 2I2H0|& 728,614 574,824 153,790
Il 364,307
= 364,307

IEENEES 728,614 574,824 153,790
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SA:

B

Eel:

OEdEAEIIEL

Oleh 84 HA4H SY(MSISX/c - Ead

Hd4UES 3 Hd S

OEOIaE (2HA)

345,480

b 172,740
= 172,740
OEIIHH (2H4) 229,360
b 114,680
= 114,680
OYAIHE (19H2) 153,774
p] 76,887
= 76,887

HAUNSSUE 21 29(3D) 534,000 234,000 300,000
p] 325,500
= 208, 500

307 BI2A0|H 417,000 117,000 300,000
g/ 208,500
= 208,500

I TENEES 417,000 117,000 300,000
O BAHSSSUE &7 - 29 417,000
p] 208,500
= 208, 500

308 XHXIEHHIS O & 117,000 117,000 0
ol 117,000

NPCENERNEES 117,000 117,000 0
ONZ HAHL2SME &X - 29 117,000
g 117,000

HAE SDSOIEI0 2Y(3D) 957,000 017,216 £60,216
=2 849,500
= 107,500

307 BI2H0I A 215,000 217,968 £2,968
2 107,500
= 107,500

10 A =X EE 215,000 217,968 £2,968
O IHE O3H0l 29 215,000
=2 107,500
= 107,500

308 XHXIEHHIS O ® 742,000 799,248 57,248
= 742,000

P e = 742,000 799,248 57,248
OAIZ Y% O13HHIDI 2 742,000
=2 742,000

HAURHEY Yo (2D) 44,000 34,000 10,000
2 22,000
= 22,000

307 RIAOIH 44,000 34,000 10,000
2 22,000
= 22,000
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SH: Ol EEAEIIED

FH: Ol & FAaE SH(MISX /- - #A4)

A
= [=4
ool HAEES U HE g8 (et H)

10 MaIEXIEx 44,000 34,000 10,000

OBAHERMEZIZANY 32 34,000
= 17,000
& 17,000
OFAEHRMNSI LAY Z2AEAS 2F 10,000
= 5,000
[ 5,000
FHordAd g XNA(22) 292,500 156,000 136,500
Il 245,700
< 46,800
307 212tol ™ 156,000 : 156,000 0
7l 109,200
=3 46,800
10 ASI8BXIEX 156,000 156,000 0
OsgsH 44 gy ¢ XS 156,000
7l 109,200
= 46,800
308 XXl EtMI S0 ™ 136,500 0 136,500
Il 136,500
01 IXSNBLEES 136,500 0 136,500
ostd=E dAd XE ¢ SN 136,500
2l 136,500
FaELAE Js ¥ 2EHd 73,000 65,000 8,000
307 212tol ™ 73,000 65,000 8,000
02 QI2tF A E R 3,000 0 3,000
Oga=A S=Us &It 3,000
10 ARSI SXIE X 70,000 65,000 5,000
OFAESHAL JIs & 2N 70,000
FaE SEANE &5 6,855,200 4,262,672 2,592,528
& 6,580,000
& 275,200
HAUEANE BE(31) 578,000 1,370,000 A792,000
& 550,000
= 28,000
402 QIZHGHE01 A 228,000 0 228,000
3 200,000
= 28,000
02 QIZHIHES AL BI 228,000 0 228,000
OZET MAdHe +H& JIsEZ 228,000
& 200,000
& 28,000
403 IXIHH S K20l & 350,000 1,120,000 £770,000
Z 350,000
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FA: GEEAEHIFY

HH: Dl 4= HAE SH(MIEX/=
el Ead SEAE &S5

re

01 UXEHA2EE

350,000

1,120,000

A770,000

OFALESHALE JIsSEZ 350,000
3 350,000
HAd2 A8(20D) 4,840,500 2,185,909 2,654,591
= 4,650,000
[ 190,500
403 X HHSNH=01H 4,840,500 2,185,909 2,654,591
& 4,650,000
< 190,500
01 XM A=2ExE 4,840,500 2,185,909 2,654,591
OFAEH,HI 2E 4,840,500
2 4,650,000
=3 190,500
HAEESIAE HEY(21) 1,436,700 553,763 882,937
= 1,380,000
= 56,700
403 TXISHHSEN201H 1,436,700 563,763 882,937
& 1,380,000
L= 56,700
01 X &HA2EXE 1,436,700 553,763 882,937
OHAHESSY AHE 1,436,700
2 1,380,000
e 56,700
HE2HHH (L HAEIIZ=D)(JIEHIIE) 35,000 46,390 211,390
JlEgl 35,000 46,390 211,390
EA2E JI234| 35,000 46,390 211,390
201 2823 H| 25,000 30,080 25,080
01 AtR221HI 25,000 30,080 A5,080
PA2E AR 22U 25,000
202 OfHl 10,000 10,560 2560
01 WO 10,000 10,560 2560
FA2E U0 10,000
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